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Outcome 3 - Using the Quadratic Formula

Bronze example Silver example Gold example
(G ~N) (¢ N (7 ~
Examples..  _p 4+ \/h7 —4q4c Examples..  —p + /b2 — 4ac Examples..  _j +\/p7Z — 2qac
**Given on X = 2a **Givenon 2a **Givenon X = 2a
formula sheet!™ formula sheet!** formula sheet!™*
Solve x? + 6x + 4 = 0 giving your Solve x? — 8x + 3 = 0 giving your Solve x? — 8x — 2 = 0 giving your
solutions to 1 decimal place... solutions to 1 decimal place... solutions to 1 decimal place...
a=1 b=6 c=4 a=1 b=-8 «¢=3 a=1 b=-8 c=-2
—6 + V36-4(4) _ 6%V 20 8+ V64 —4(3) _8%vs52 8+Ve64—4(-2) _8+V72
2x1 2 2x1 - 2x1 2
—6—+/20 -6+ 20 8 —+/52 8 ++/52 8 —-+72 8++72
= ——— and —— = an = and
& 2 2 2 2 Z
x=-5-2 and x=-0-8 x=0-4 and x=7-6 x=—-0-2 and x=8-2
| | | | | |
\\ [ ] // \\ [ | /’) \K [ I ./
Bronze Questions Silver Questions
« u « 55
Solve the following quadratic equations é) Solve the following quadratic equations &
rounding your solutions to 1 decimal place... ' rounding your solutions to 1 decimal place...
& x*+10x+4=0 & x*+6x+1=0 — & ¥*=7x+3=0 & x*-9x+1=0 )
= ﬂ opol]
o x*+9x+1=0 & x*+7x+5=0 o x2—4x+1=0 & x?-8x+1=0
&S 2x%2+6x+3=086 3x?+9%x+2=0 5 2x*-8x+4=08 3x2-5x+1=0
Z x*+11x+3=0 8 2x* +10x+3 =0 Z x*—12x+3=0 8 2x*-7x+2=0
8 x2+8x+3=0d8 x*+5x+2=0 8 x?-5x+2=038 x*—3x+1=0

Gold Questions

Solve the following quadratic equations
rounding your solutions to 1 decimal place...

& ?—10x—2=0 2 x>+5x—1=0
& x2+9%x—1=0 & x*-8x—-4=0 2
S 2% —4x—-3=08 3x?-7x-2=0
Z x*—11x—4=0 8 2x*+6x—-3=0

8 x2-5x-2=04348 x2+10x—-9=0
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Bronze Answers

x=-96and x = -0-4 2. x=-5-8and x=-0-2
x = -8-9and x = -0-1 4, x=-6-2and x=-0-8
x=-24and x=-06 6. x=-2-8and x=-0-2
x=-107and x=-0-3 8. x=-47and x=-0-3
x=-T6and x=-0-4 10. x=-46and x=-0-4
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Silver Answers

x=05and x = 65
x =03and x= 37
x=06and x= 34 x=02and x= 14
x=03and x=117 x=03and x= 32
x=04and x=46 10. x=04andx=26

x =01and x = 89
x=0land x = 7-9

VN O W

Gold Answers

x=-0-2and x = 10-2
x=-91and x= 01

x=-52and x=02
x=-0Band x=85
x=-06and x=26 x=-0-3and x=26
x = -0-4 and x = 11-4 x==-32and x=0-2
x=-04and x=54 10. x=-10-8and x=0-8

W N O W
e

Working with Quadratic Equations © Cdmasterworks Ltd 2012



